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Proving Trigonometric Identities

Just like Chapter 6 had ‘provey’ and ‘solvey’ questions, we also get the ‘provey’
questions in Chapter 7. Just use the appropriate double angle or addition formula.

2

Prove that tan20 = ————
cotf—tan 6

1—cos 260

=tanf
sin 26

Prove that
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Test Your Understanding

[OCR] Prove that cot 2x + cosec 2x = cotx

[OCR] By writing cos x = cos (2 X g) or otherwise,

1-cosx x
= tan? (—)
1+cosx 2

prove the identity
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Very Challenging Exam Example

Edexcel C3 June 5Q8

(a) Prove that

cos A + sin 4 2n+1
sec24 +tan24 = L TSNA PPRCAL) L
cosA —sin A 4
®)
(b) Hence solve, for 0 < <2
1
sec20 + tan20 =
Give your answers to 3 decimal places
)

We eventually want cos A — sin A
so cos? A — sin? A is best choice
of double-angle formula because
this can be factorise to give

cin 4 as a factor.

1
€0s2.
_1+sin24

sec24+tan24 =

A—sin® 4
cos” A+sin” A+2sin Acos 4

= 7] )
cos” A—sin" A4
(COS A+sin A)(COS This is even less obvious. Knowing that we’ll have (cos A — sin A)(cos 4 + sin A) in the
= 4 denominator and that the cos A + sin A will cancel, we might work backwards from the
final result and multiply by cos A + sin A! Working backwards from the thing we're
trying to prove is occasionally a good strategy (provided the steps are reversible!)





